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1101 | K48 dbimE 250 2500 0 2500 10 0 0 0 1404 0 1080
EE 120 1200 0 1200 10 0 0 0 1836 0 1080
RE 20 300 0 300 15 0 0 0 1296 0 1188
& 390 4000 0 4000
NB|FEFEAS [dtiEE 450 4500 0 4500 10 0 0 0 2052 0 1080
& 450 4500 0 4500
1141[54R BmE 7 35 0 35 5 0 0 0 2700 0 1188
& 6 60 0 60 10 0 0 0 1944 0 1512
(&) 13 95 0 95
1201|833 EF 280 4200 0 4200 15 0 0 0 2484 0 1490
GhH 280 4200 0 4200
1203| F v AY HE 50 500 0 500 10 0 0 0 864 0 756
BHE 60 900 0 900 15 0 0 0 0 810 0
EF 30 300 0 300 10 0 0 0 0 1296 0
GhH 140 1700 0 1700
1204|Glh—JL _ |[EF 10 100 0 100 10 0 0 0 0 864 0
GhH 10 100 0 100
1207| & & Eh 910 91 91 0
1209| B & B 4 12 0 12 3 0 0 0 0 1728 0
[E)) 4 12 0 12
1221|=vE [&0) 6 8 0 8
1227[KE EE 60 12 0 12 0.2 0 0 0 0 378 0
(&) 60 12 0 12
1245 /MAE EE 120 48 48 0 0.4 0 324 0 0 0 0
(&) 370 98 48 50
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e 73 365 0 365 5 0 0 0 3456 0 1944
S 4 24 0 24 6 0 0 0 1944 0 1555
BiE 240 96 0 96 0.4 0 0 0 216 0 211
(&) 495 727 0 727
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1321 [#R dbifmE 300 1500 0 1500 5 0 0 0 3996 0 3024
BiE 42 210 0 210 5 0 0 0 4104 0 2916
Eh 352 1760 0 1760
1331 [MFEHe  [dtiEE 20 200 0 200 10 0 0 0 2160 0 1944
Eh 20 200 0 200
13B1E—<> [EE 600 90 0 90 0.15 0 0 0 146 0 140
Eh 600 90 0 90
1355|455 BERS 240 24 0 24 0.1 0 0 0 0 135 0
Eh 280 28 0 28
1411 | BEF (&) 44 18 18 0
1521| B =ik 5 25 0 25 5 0 0 0 0 3240 0
(&) 5 25 0 25
1603[)L)— [REH 4 40 0 40 10 0 0 0 4644 0 4320
(&) 4 40 0 40
1609[F0vay  [dbiEsE 90 720 0 720 8 0 0 0 6739 0 5962
=% 5 30 0 30 6 0 0 0 0 5400 0
Gh 95 750 0 750
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1803 | EHEE EE 450 45 0 45 0.1 0 0 0 135 0 103
mE 330 66 0 66 0.2 0 0 0 239 0 66
GhH 780 111 0 111
1807 H E% 150 15 0 15 0.1 0 0 0 0 48
f=154 1200 240 0 240 0.2 0 0 0 97 0 81
Eh 1350 255 0 255
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